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General Instructions:

1. This Question Paper has 5 Sections ‘A’, ‘B’, ‘C’, ‘D’ and ‘E’.

. Section A has 20 MCQs carrying 1 mark each

. Section B has 5 questions carrying 02 marks each.

. Section C has 6 questions carrying 03 marks each.

. Section D has 4 questions carrying 05 marks each.

. Section E has 3 case based questions (04 marks each) with sub parts of the values of 1, 1 and 2 marks
each respectively.
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7. All Questions are compulsory. However, an internal choice in 2 Questions of 5 marks, 2 Questions of 3
marks and 2 Questions of 2 marks has been provided. An internal choice has been provided in the 2
marks questions of Section E.

8. Draw neat figures wherever required. Take &t =2—72 wherever required if not stated.

9. Use of calculator is not permitted.
10. Please do write down the Serial Number of the question before attempting it.

gus ‘I
SECTION A

GUE " F 20 TF 5, FoH T4 1 FF 3

Section A consists of 20 questions of 1 mark each.

L | fFerferfea & & =i a7 G y-37e7 & qqaT g ?

Which of the following is the equation of the line parallel to y-axis?
(@)x=7 (b)x=y (c)x+ty=3 (dy=11

2. | ggUT P9 | X HT U g

The coefficient of x for the polynomial x*— 9 is:
(2) 0 (b) 1 (c)—1 (d)—9

3. | qad FIE AThd HEAT 7

The smallest natural number is:
(@)— 1 (b1 ©)0 (d)2

4. | "gfg FEET AT IE H SIST AT, q7 7 AT J20& B1d 8 1" T8 FA1 s

& AT B

“If equals are added to equals, the whole are equal.” According to Euclid. This statement is:

(a) Tt (postulate) (b) qHTaT (definition)

(c)El'ﬁ'Zr (theorem) (d) al?-liléla (axiom)

5. | ¥ S AR |, FHIOT x K A &

In the given figure, the value of angle x is:

(a) 80 (b) 30
(c) 20 (d) 100

6. | g fag FSrEeh! FIlE 4 8 3T ST y-37e7 92 f2uq &

The point whose ordinate is 4 and which lies on y-axis is:

(a) (4, 0) (b) (0, 4) (c) (1, 4) (d) (4,2)

7. | FgUT X + 4 FT LT &

The zero of the polynomial x + 4 is:

(a) — 4 (b) 3 (©7 (d)o




8. |gf= (s—a)= 8 cm, (s—b)= 12 cm 3T (s—c)= 14cm%?‘ﬁﬁ"ﬂ'§|—5ﬂ' TSI AT %Z
The semi-perimeter of a triangle if (s —a) =8 cm, (s —b) = 12cmand (s—c) = 14 cm is:
(a) 17 cm (b) 34 cm (c)20 cm (d) 26 cm
9. | APQR , PQ=PR 3T LPQR =30° | PRQ FT HTT &:
In APQR, PQ = PR and £PQR = 30°. The measure of ZPRQ is:
(a) 80° (b) 30° (c)120° (d) 100°
10. | 72 p (-1, 1), Q 3, 4), R (1, —1), S (-2, -3) 3T T (- 4, 4) FT ITF Y97 9 fA=foa B
ST 7, ar =y At 7 g 8
IfP(-1,1), Q@3,-4), R (1,-1), S (-2, -3) and T (- 4, 4) are plotted on the graph paper, then the
points in the fourth quadrant are:
(2) P 3T T (P and T) (b) Q TR (Q and R)
(c) FEA S (Only S) (d) P 3T R (P and R)
1. | o # AB 3T cD #g 0 AT U Il &l Ja< S(aTu & |
OP 3T 0Q FHIT: STATSN AB ¥ €D T & g | TTX 2POQ = 140°
2, T (LAPQ + 2CQP) TXTET &
In figure AB and CD are two equal chords of a circle with centre O. OP and OQ
are perpendiculars on chords AB and CD respectively. If 2ZPOQ = 140°, then
(£APQ + £CQP) is equal to:
(a) 120° (b) 130° (c) 140°
(d) 150°
12| /68 T I &
The value of V6x+/8 is:
(a) 3v4 (b) 4/3 (c) V14 (d) 6v8
B | Reffaa H a R aragas g ?
Which of the following is a polynomial?
(a) V5 +x7* (b); (©) V3 + x> (&) — 4/x
14. | gare 3T v el T AF Sl TF AL FT AT AT & | 4F 1 FAT8
A cone and a hemisphere of same radii ‘r’ have equal volumes. The height of the cone is :
(a) 2r (b) 3r (c) g (d)r
15. | x-37e7 T FHIHLT 2x + 3y = 6 e Tavg % Fledl &
The graph of the equation 2x+ 3y = 6 cuts x-axis at the point:
(a) (3,0) (b) 3,7) (©)(3,2) (d) (2,3)
16. | gg92 33—+ + 5 %1 94 &
Degree of the polynomial 3x3— x2 + 5 is:
(2) 0 (b) 1 (c)2 (d)3
17.

o FHATHST hl TOIT3N o AT owgall &l w7 F /AT 9T ITH i o




The figure obtained by joining the midpoint of the sides of a rhombus, taken in order is:

(a) U= Wﬁﬁ' (a rhombus) (b) TH T (a square)
(C) U AT (a rectangle) (d) S THTAL %l—(j'%ifvr

(any parallelogram)

18. | 12 om SATE AT Tk HHATE AT T &ARA &
The area of an equilateral triangle having height 12 cm is :

(a) 83 cm® (b) 24v/3 cm® (c) 483 cm® (d) 4v/3 cm’

T AT 19 3T 20 H, ATHFRIT (A) F TH FAT & 1 FHILT (R) FT TH FA AT

TAT g | Hat [ashed IMET |

In the following questions, a statement of assertion (A) is followed by a statement of reason (R). Choose
the correct option.

19. | ITYFAT(A): TR AB=PQ AT PQ=XY &, AT AB=XY ¢ |

FION(R): ST TEIU T gl a6 6 G 2l § I Teh gAY 6 Wl &< gral g |
() TIAT STTSTHAT (A) SATT FHTLOT (R) TH & ML AL (R) ATHFRAT (A) T Tl
STEAT ¢ |

(b) TIAT STTTHRAT (A) T FHTLOT (R) T g AT HILIT (R) ATHHRAT (A) T TGl
SATEAT el 2 |

(c) ATHFRAT (A) TH & AThel FHILT (R) ATA ¢ |

(d) ATHRIT (A) ST & ATRT TN (R) T 2 |

Assertion(A): If AB = PQ and PQ = XY, then AB = XY.

Reason(R): Things which are equal to the same thing are also equal to one another.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true and reason (R) is not correct explanation of assertion (A).

(c) Assertion (A) is true but the reason (R) is false.
(d) Assertion (A) is false but the reason (R) is true.

20. | SITHRAT(A): 6 em AT ST 10 om TTTF FAATS AT TH 915 T SATE 12em B |

FILOIR):TF THIT 90F 0l SaTs, Bear o =t S UF a9 B
FATAT B |

() TIAT STTSTHAT (A) SATT FHTLOT (R) TH & ML AL (R) ATHFRAT (A) T Tl

SATEAT ¢ |

(b) TIAT STTTHRAT (A) HT FHTLOT (R) T g AT AL (R) ATHHRAT (A) T TGl

SATEAT el 2 |

(c) ATHEAT (A) TT g SATehe LT (R) AT g |

(d) ATHRIT (A) SHHT & ATRT HILIT (R) T & |

Assertion (A): The height of a cone having radius 6 cm and slant height 10 cm is 12 cm.

Reason(R): The height, radius and slant height of a right circular cone forms a right angled triangle.
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true and reason (R) is not correct explanation of assertion (A).
(c) Assertion (A) is true but the reason (R) is false.

(d) Assertion (A) is false but the reason (R) is true.




gue o’
SECTION B

gue ‘g H 5T g, OH TAF 2 SAF FT G |

Section B consists of 5 questions of 2 marks each.

21. | ABCD T& HHTAY FqHS & SEH £ ADC = 105° o
: C

ST 1T AB &l o E T F@AT 97 § ST 6 -

S § feEmEr @ g | 0o

(x+y) ol HIA 3ATd FrorT |

ABCD is a parallelogram in which £ ADC = 105° and side X

AB is produced to point E as shown in the figure. Find the E}

value of (x +y). A B

AIGT/OR
& TS AT §, ITE ABCD T a1 g, AT ‘X’ T JIT AT 1ol |
In the given figure, if ABCD is a square then find the value of ‘x’.
D C
105’
X
o)
A B

22. | {3 I7 @Y IR TTd=es Fdl §, Al [9E iy o <T@ Fior aaa<

gd g |

If two lines intersect each other, then prove that the vertically opposite angles are equal.
23.

= &F T2 SARfd it Jgraar | Meterted & forre:

Write the following with the help of the following figure:
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(i) B'F Ager® (The coordinates of ‘B”)

(ii) ‘«c'F fAg9rH (The coordinates of ‘C”)

(iii) ﬁ%—‘?ﬂ?ﬁ (3, -5) all HgdAldl 14l @lg [The point identified by the coordinates (-3, —5)]
(iv) IGECUED (2, —4) gL UgdTdaT g7 ﬁ?\; [The point identified by the coordinates (2, —4)]

24.

g T g7 it Fra SHETT g 9% FHTH 107 i Fedl g |
9

Prove that equal chords of a circle subtend equal angles at the centre.
AIAT/OR
T forelt Toea it TRy SETe a3 gi, af =g Hiffsra {6 a8 =5t 2 |

If the non parallel sides of a trapezium are equal, prove that it is cyclic.

25.

(351)° — (350)° T AT AT T |
Find the value of (351)* — (350)°

que W’
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qvE @ K o9 2, P o 3 AL |




Section C consists of 6 questions of 3 marks each.

26.

T 30— 4 TEIF p(x) = 20°— 116>+ kx — 20 T UIEE &, AT k T AT AT HITIT |

If 3x — 4 is a factor of the polynomial p(x) = 2x> — 11x*+ kx — 20, find the value of k.

27.

X T /I 19 Ffore T

Find the value of x:
@™ =16y =384

AY4GT/OR
X FT /I 19 Ffore T

Find the value of x if:
252X -3 — 52X +3

28.

SR H, 2PQR = 2PRQ & | THF HITTT o 2PQS = 2PRT Z |

In figure, ZPQR = £PRQ. Prove that ZPQS = 2PRT.
P

S Q B T

AYGT/OR
SITR{T |, TS AB || CD || EF, PQ || RS, ZRQD = 25° 3T LCQP = 60° 7, AT QRS 3T LRQP
T FriorT |

In the figure, if AB || CD | EF, PQ || RS, ZRQD = 25° and ZCQP = 60°, then find ZQRS and /RQP.

S
A B
& R >
C Q _A25° D
“—@ >
<—&— >
E j P F

29.

referfara arferer v e saeadi fhe 89 § 9910 70 w97 1 2907y
R

The following table shows the runs scored in a one day international cricket match:

0—10 | 10—20 | 20—30 | 30—40 | 40—50
Over
ERHIURILY
TG 42 56 35 60 40
Runs scored

SUIE ATHST 1 AT G (A= 9d oy |




Represent the above data through a histogram.

30.

PQRS T ST g 3T A, B, C 3T D FHHI: T3 PQ, QR, RS 3T sp o 7T f&g 7 |
2920 {6 FIHST ABCD TFH FHATHS 3 |

PQRS is a rectangle and A, B, C and D are the midpoints of the sides PQ, QR, RS and SP respectively.
Show that the quadrilateral ABCD is a rhombus.

31.

SHEL ® Agld | & & g et fhar 13 feeett &1 araae [eferea

o d o
qTTeTeRT H & T3 3T &
The temperature of Delhi recorded during the day in the month of January is presented in the following
table:

iNE 3AM | 6AM | 9AM | 10AM | 12PM | 3PM
(Time)

dTaHTA
(Temperature)

JULTh ST & AT 9 [eferfad wsff & 39 <1
On the basis of above information, answer the following questions:
(i) 12 5 o AL H qIIHTE H a1 AT |
Find the difference in the temperature in the 12-hour interval.
Giy B 7w, foe 999 3T o917
At what time, the day was the coldest?
(iif) ITeT:3 ST | AT:6 S Toh ATTHTT | T T2 qiead gar?

How did the temperature vary from 3 am to 6 am?

8°C 7°C 8°C 10°C 14°C 18°C

gus ‘T
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quE ‘W H 47T g, SH TAw 5 F Fr 5 |

Section C consists of 4 questions of 5 marks each.

32.

AB TF W@TEE g | P 3T Q 30 W@rave AB F Fadd A 29 e fouq g
o ZH T TF A 3 B § FHGLES g | T2y f& @1 PQ Y@m@ve AB T
THT GHIGHATS 3 |

AB is a line-segment. P and Q are points on opposite sides of AB such that each of them is equidistant
from the points A and B. Show that the line PQ is the perpendicular bisector of AB.

AIAT/OR
a3 A 9% YTd=eE T arell a1 T@rai /3 m 8 q9geel UF fdg P 2 |
T2 T ¥@T AP AT T@TSAl 3 1= o FI0T &l GG Fhedl ¢ |

P is a point equidistant from two lines / and m intersecting at point A. Show that the line AP bisects the
angle between them.

33.

a 3T b FT 19 1T FITorT =fe:

Find the value of a and b if:
7433 7-3V3

_ = a0+
23 23 a+bV/3

34.

U ha! o FTLNTATHRIT FHalL il HIETs 1.4 cm g ATC TRt Sa<r =ear 3.5
em g | T =8 T a8 | U2 AT AT 5 | Ue AT ST aATAT et &=l




T AT | FERT H TR SAed a3 Tehal 52

The thickness of a wooden hemispherical bowl is 1.4 cm and its inner radius is 3.5 cm. Naman wants to
paint it completely. Find the total area to be painted. How much liquid can the bowl hold in litres?

35. | qurEE HI

Factorize:

(2a—b-c)’+(@2b-c—a)y+(2c—a—by
AIAT/OR
2 2 2
T a+b+e=0ar “’ZCC) + (C;‘j) + (‘”a’;) T /19 T FIforT |
2 2 2
Ifa+b+c=0 then find the value of xS 4 (@~ | (@+b)
ca ab
que ¢’
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36.

AT oo TOaT o |17 e JATR1E 9T 51 AT | a8 Teh R0 s 7
ATATE PQR ST g AT Tg AT a@aT g Toh i ZahTe p, Q 3T R X o g ST
o sl & @ 7 8 S8l € Swg Ul STeid o ATHE T are ard
GIEAT & | T P 3T Qo o1 sl gL s HIaX g, AT THIA p 3T R % A1 a0l
T 6HIEX g | s a8 favg § gl Ao o fUar & a7 @1 ¢ |

Sunil visited a circular park with his father. He sees a triangular shaped pond PQR and also
observes that three shops are situated at P, Q, and R as shown in the figure from where they have to
purchase some food items according to their need. Distance between shop P and Q is 8 m, and that
between shop P and R is 6 m. ‘S’ is the point where Sunil is standing with his father.

P

(i) 2 QSR T HTT FIT &2
What is the measure of £ QSR?
(ii) T =l T AT S{TET hl AdTg AT I 9T |
Find the length of the longest chord of the circle.
(i) T8 FIT T 2 QPR T THAIT ¢ |
Prove that « QPR is a right angle.
AIAT/OR

(2 PQR + £ PRQ + £ QSR) &b HTA ATd ST |
Find the value of (2 PQR + 2PRQ + 2 QSR).







37.

LT H31 TR Tgd w1 (SrF 769 § PMNRF 7 g7 SITaT 8) STl i
ATEE ATHT SISl & TATET AR Rl TEAAT TG F & (o0 Jels T
fATer T | T8 AT S ATAT AT ATTGTA | F1E, FhaTd, ST M
QT & |

3T Fget Qe 3T Tt 7 TR Tam J3it Tad AT | % 200 T AT
TRTETT T&3T | TH x+y =200 % & H h AT TAT ¥ |

YL 3T o AT U AT T30 & I A0

- PrlmeMmlstem_

Prime Minister's National Relief Fund (also called PMNRF in short) is the fund raised to provide support
for people affected by natural and man-made disasters. Natural disasters that are covered under this
include flood, cyclone, earthquake etc. Man-made disasters that are included are major accidents, acid
attacks, riots, etc.

Two friends Shalu and Gitika, together contributed < 200 towards Prime Minister's Relief Fund. This is

expressed as x +y = 200
Based on the above answer the following questions:

() THTHLOT x + =200 T ax + by + ¢ =0 ®T H AH HIT |

Express the equation x + y = 200 in the form ax + by + ¢ = 0.

(i) T 9T 7 T 150 T ANTEA <7, 7 ATt 7 Foraear Frre f=ar?
If Shalu contributed I 150, then how much was contributed by Gitika?
(iii) THTERLIT x + y = 200 F & B AT I 9T |
Find the two solutions for the equation x + y = 200
AIAT/OR

THIFT 5 + = 200 FT ATAG T |

Draw the graph of the equation x +y = 200




38.

o

ATEST o RTH THRMETL F TEHSTHRT ST T JATe Fohu 5w sy, o=,
TSI Sl Jhet! AT | TSHST T il 0 TLaT g | LAt Hl 9T ACE ¥,
e 3T 9T BDF H, T %I AT ABE | T@T 4T § 3 ART BEF H HIRAT il
TG AT | S &l FHATHTE AR § 12T 7397 8

During Lohri, the shopkeepers prepared hexagonal shaped gift-boxes containing rewadi, til, gajjak and
peanuts. The hexagon has equal sides. The rewadi is placed in part ACE, til is in part BDF, gajjak in part
ABE and peanuts in part BEF. The box is divided into parts as show below:

A Scm B

|

SIIE SITARTT = e 9, fFeferfera g & s

Based on the above information, answer the following questions:

(i) T 3T GITHAT o (AT 0l AaTg AT io(T |

Find the length of the partition of gajjak and peanuts.

(i) FITRAT AT STTRT T &THA TohadT 72

What is the area of the part having peanuts?

(iii) ToReTeRT & Ther 3TTerh g et a7 =7

Which covers more area-til or gajjak?

AITGT/OR
TT< CJ L AEE T CJ T hIToTT |

If CJ L AE then find CJ.




